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Question: 1

What are two ways Cisco addresses customers' growing business needs? (Choose two.)

A. Multi/hybrid cloud platforms

B. Highly-scalable DC platforms

C. Bulletproof NGFW appliances

D. Consolidated tracking and reporting
E. Multiple solution deployment choices

Answer: AB

Question: 2

Where do you start to achieve true network visibility?

A. Branches
B. Fabric Level
C.oT

D.IT

Answer: B

Question: 3

Which three products are used to secure the cloud? (Choose three.)

A. Umbrella
B. Tetration
C. NGFW

D. ESA

E. Meraki

F. Cloudlock

Answer: ABF

Question: 4
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Which two attack vectors are protected by Visibility and Enforcement? (Choose two.)

A. Mobile

B. Cloud

C. Email

D. Web

E. Endpoints

Answer: CD

Question: 5

Which two attack vectors are protected by Email Security? (Choose two.)

A. Voicemail
B. Mobile
C. Email

D. Web

E. Cloud

Answer: AC




